


Given bar graph shows the number of plain 
books and lined books (in hundreds) 
available at three different stores and the 
table shows the percentage of total books 
(Plain + lined) that was sold by different stores.
दिए गए बार ग्राफ में तीन अलग-अलग िकुानों पर 
उपलब्ध सािे पुस्तकों और पंक्ततबद्ध पुस्तकों (सैकडों 
में) की संख्या दिखाई िेती है और ताललका कुल 
पुस्तकों (सािे + पंक्ततबद्ध) का प्रततशत दिखाती है जो 
विलिन्न िकुानों द्िारा बेची गई थी।
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The number of plain books sold by store A 
and store B was 30% and 40% respectively 
then find number of lined books sold by store 
A and store B together is what percent of total 
books available at store A ?
स्टोर A और स्टोर B द्िारा बेची गई सािे पुस्तकों की 
संख्या क्रमशः 30% और 40% थी, फफर स्टोर A और 
स्टोर B द्िारा बेची गई पंक्ततबद्ध पुस्तकों की संख्या 
एक साथ स्टोर A पर उपलब्ध कुल पुस्तकों का
फकतना प्रततशत है?
A. 22

𝟔

𝟕
%  B. 23

𝟒

𝟕
%  C. 25

𝟓

𝟕
%  D. 25%   E. None
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Average of total books sold by stores B and C 
together is how much less than total unsold 
books of store A.
स्टोर B और C द्िारा बेची गई कुल पुस्तकों का औसत 
स्टोर A की कुल बबकने िाली पुस्तकों की तुलना में 
फकतना कम है?
A. 1125  B. 1075  C. 1055  D. 1175    E. 1225
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Ratio of plain and lined books sold for store C 
is 5 : 4 and for store B is 3 : 2. Then find the 
total number of plain books sold by these two 
stores together ?
स्टोर C के ललए बेची गई सािा और पंक्ततबद्ध 
पुस्तकों का अनुपात 5:4 है और स्टोर B के ललए 3:2 
है। फफर इन िो िकुानों द्िारा बेची गई कुल सािे 
पुस्तकों की संख्या एक साथ ज्ञात कीक्जये।
A. 1750    B. 182  C. 1850   E. 1950   D. 1975
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Unsold books of store A is approximately is 
what percent more or less than total unsold 
books of store B and C together.
स्टोर A की अनसोल्ड बुतस, स्टोर B और C की कुल 
अनसोल्ड बुतस से फकतना प्रततशत अधधक या कम है?
A. 48%     B. 54%    C. 59%    D. 52%    E. 57%
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Selling price of each plain books and lined 
books sold by store B is ₹250 and ₹175 
respectively. Then, find the total amount 
earned by store B on selling these books if 
60% of lined books are sold by the store ?
स्टोर B द्िारा बेची जाने िाली प्रत्येक सािे पुस्तकों 
और पंक्ततबद्ध पुस्तकों की कीमत क्रमशः ₹250 और 
₹175 है। फफर, इन पुस्तकों को बेचने पर स्टोर B
द्िारा अक्जित कुल रालश का ज्ञात कीक्जये यदि 60% 
पंक्ततबद्ध फकताबें स्टोर द्िारा बेची जाती हं?
A. ₹2.5 lac B. ₹3.6 lac  C. ₹3.5 lac    E. ₹3.8 lac    
D. ₹4.1 lac
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Given below table shows number of employees joined (at the beginning of the year) & left (at the 
end of the year) in three companies i.e. A, B & C in three years (2001, 2002 & 2003). Read the data 
carefully and answer the questions. (Some data are missing).
नीचे िी गई ताललका में तीन िषों (2001, 2002 और 2003) में, तीन कंपतनयों (A, B और C) में शालमल हुए 
कमिचाररयों की संख्या (िषि की शुरुआत में) और छोड ेगए कमचाररयों की संख्या (िषि के अंत में) िी गई है। आंकडों 
को ध्यान से पढें और सिालों के जिाब िें। (कुछ डटेा गायब हं)।

Years
A B C

Joined Left Joined Left Joined Left

2001 102 -- 96 18 84 36

2002 78 24 72 -- 108 --

2003 112 -- 144 -- 124 28
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In year 2000 total employee who joined A is 64 which is 32% of total employee working in A that 
year and total employee who left A in year 2000 & 2001 is 20 & 32 respectively. If employee left B 
in year 2002 is 16 and this company starts in 2001, then find total employee working in B at the 
end of 2002 is approximate what percent of total employee working in A at the end of 2002?
िषि 2000 में A में शालमल होने िाले कुल कमिचारी 64 हं जो उस िषि A में काम करने िाले कुल कमिचारी का 
32% है और िषि 2000 और 2001 में A को छोड चुके कुल कमिचारी क्रमशः 20 और 32 हं। यदि िषि 2002 में B
को छोडने िाले कमिचारी 16 है और यह कंपनी 2001 में शुरू हुई है, तो 2002 के अंत में B में काम करने िाले 
कुल कमिचारी, 2002 के अंत में A में काम करने िाले कुल कमिचारी का फकतना प्रततशत है?
(a) 36%      (b) 48%       (c) 52%       (d) 44%      (e) 56%

Years
A B C

Joined Left Joined Left Joined Left

2001 102 -- 96 18 84 36

2002 78 24 72 -- 108 --

2003 112 -- 144 -- 124 28
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The ratio of total employee who left B & C in the year 2002 is 7:9 and total employee working in B 
& C at the end of 2000 are 160 & 172 respectively. If total employee working at the end of 2003 in 
C is 406, then find total employee working in B at the end of 2002?
िषि 2002 में B & C को छोडने िाले कुल कमिचारी का अनुपात 7:9 है और 2000 के अंत में B & C में काम करने 
िाले कुल कमिचारी क्रमशः 160 और 172 हं। यदि C में 2003 के अंत में कायिरत कुल कमिचारी 406 है, तो 2002 
के अंत में B में काम करने िाले कुल कमिचारी का पता लगाएं?
(a) 284         (b) 296         (c) 298          (d) 302          (e) 306

Years
A B C

Joined Left Joined Left Joined Left

2001 102 -- 96 18 84 36

2002 78 24 72 -- 108 --

2003 112 -- 144 -- 124 28
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Total employee working in B at the end of 1999 is 220 and 28 employee left company in 2000, 
while 32 new employees joined the company. If respective ratio of employee left the company B 
in year 2002 & 2003 is 6:7 and total employee working in B at the end of 2003 is 466, then find total 
employee left B in 2002 & 2003 together?
1999 के अंत में B में काम करने िाले कुल कमिचारी 220 और 28 कमिचारी 2000 में कंपनी छोड गए, जबफक 32 
नए कमिचारी कंपनी में शालमल हुए। यदि 2002 और 2003 में कंपनी B को छेडने िाले कमिचाररयों की संख्या का 
अनुपात 6:7 है और 2003 के अंत में B में काम करने िाले कुल कमिचारी 466 है, तो 2002 और 2003 में एक 
साथ छोडे कुल कमिचारी का पता लगाएं?
(a) 52          (b) 48             (c) 42             (d) 36              (e) 32

Years
A B C

Joined Left Joined Left Joined Left

2001 102 -- 96 18 84 36

2002 78 24 72 -- 108 --

2003 112 -- 144 -- 124 28
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The average of total employee left company A in the given three years is 21 and ratio of 
employee left in 2001 to in 2003 is 7 : 6. If company A start in 2001, then find total employee 
working in A at the end of 2002 is what percent more than total employee who joined company C 
in the year 2002?
दिए गए तीन िषों में कंपनी A के कुल कमिचारी का औसत 21 है और 2001 और 2003 में छोड ेगया कमिचारी का 
अनुपात 7:6 है। यदि कंपनी A 2001 में शुरू हुई हो, तो 2002 के अंत में A में काम करने िाले कुल कमिचारी, िषि 
2002 में कंपनी C में शालमल होने िाले कुल कमिचारी से फकतना प्रततशत अधधक है?
(a) 20%          (b) 15%          (c) 25%          (d) 30%        (e) 22.5%

Years
A B C

Joined Left Joined Left Joined Left

2001 102 -- 96 18 84 36

2002 78 24 72 -- 108 --

2003 112 -- 144 -- 124 28
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Total employee who left C in the year 2002 is 33.33% more than total employee who left A in 
same year and total employee who left B in 2002 is 62.5% of total employee who left C in same 
year. If all three companies start in 2001 and total 22 employee left A in 2001, then find the 
respective ratio of employee working in B, C & A at the end of 2002?
कुल कमिचारी क्जन्होंने िषि 2002 में C छोडा था, कुल कमिचारी की तुलना में 33.33% अधधक है, क्जन्होंने उसी िषि 
A छोडा और कुल कमिचारी क्जन्होंने 2002 में B छोडा, कुल कमिचारी का 62.5% है, क्जन्होंने उसी िषि में C छोड 
दिया। यदि सिी तीन कंपतनयां 2001 में शुरू होती हं और 2001 में कुल 22 कमिचारी A छोड िेते हं, तो 2002 के 
अंत में B, C और A में काम करने िाले कमिचारी का संबंधधत अनुपात ज्ञात करें?
(a) 65:62:69     (b) 66:62:69      (c) 65:61:67     (d) 61:62:69   (e) 65:62:67

Years
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Each company start in 2001 and ratio of total employee left A in 2001 to that of B & C together in 
2002 is 1 : 2. If total employee who left A in 2001 and that of B & C together in 2002 is 36 and total 
employee who left B in 2002 is 50% of employee who left C in same year, then find difference 
between total employee working in C at the end of 2003 and total employee working in A at the 
end of 2002 ?
प्रत्येक कंपनी 2001 में शुरू होती है और 2001 में A और 2002 में B तथा C को छोड ेकुल कमिचारी का अनुपात 
1:2 है। यदि कुल कमिचारी जो 2001 में A और 2002 में B & C छोड दिया, कुल लमलाकर 36 है और कुल कमिचारी 
क्जन्होंने 2002 में B को छोडा था, उसी िषि C को छोडने िाले कमिचारी का 50% है, फफर 2003 के अंत में C में 
काम करने िाले कुल कमिचारी और 2002 के अंत में A में कायिरत कुल कमिचारी के बीच अंतर ज्ञात करें?
(a) 92     (b) 82      (c) 72      (d) 96      (e) 86

Years
A B C

Joined Left Joined Left Joined Left

2001 102 -- 96 18 84 36

2002 78 24 72 -- 108 --

2003 112 -- 144 -- 124 28
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